
 
 

 
 

 
 

 
 
 

 
 

 
 
 
 

p( y = 1|x) =
e f (x )

1+ e f (x )                 (1)

W =  
ˆ β p

SE( ˆ β p )

 

 
 
 

 

 
 
 

2

              (2)

Ai = f [ PR(θ) – PF
∞

∞

∫ (θ)] d (θ)                    (3)

Hi =
2(ˆ a iF − ˆ a iR )

Dˆ a iR ˆ a iF
 1n  1+ exp

D ˆ a iR ˆ a iF( ˆ b iF − ˆ b iR)
ˆ a iF − ˆ a iR
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   −  ( ˆ b iF − ˆ b iR )           (4)

Zi (AES) =
AES

σbiF

2 + σbiR

2( )1/ 2                 (5)

Zi (AEA) =
Hi

σ Hi

            (6)


